24 1817] 1A DA} 251

=g Mg | HH
1 1 3
2 2 3
3 5 4
4 5 4
5 4 3
6 3 4
7 4 3
8 2 4
9 4 4
10 3 4
11 1 4
12 2 5
13 5 4
14 4 4
15 1 3
16 3 5
17 4 4
18 2 5
19
20
21
22
23
24

X Ch
SO SEX
MeE 4 = |
B5IHS xH?:l LH%(E?_I-) HH?:.
. C — |
MEH @:to pay ® to rﬂn =< running 3
© to run EE= running Zh
ME2 happen to see 4
ME3 On my way home 3
At . .
-Ii'4 | think that he is right. 4
(Mz=dh)
MEts | We will have robots to take care of 4
(M=82) babies.
ME6 , b e
~ | I saw him play soccer with his friends. | 6
(ME¥3)
If he doesn’t do his homework, he will get in
AMEH7 trouble. 6
(M&d4)| EE= He will get in trouble if he doesn't do
his homework.
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